


fraction.
21 o= T UTORET 14/15 ¥ T STeRT AT 35/24 21 A ot fre €

(3) 4/7
(4) 4/5




¥ Sum of three consecutive even integers is 54. Find the least integer among

them.

afg foregl i SHATTA |/ YuITeht T AT 54 2, A1 30 o T DI YuTieh 4T 22

b 2




 MissionSelection-SSC 2024

Whatlsthevalueof—+m+m+ 9

_+m+oooz+ .9 Ul Tk T A HTE?

(1) 222222222
(2) 111111111

(3) 555555555

y (4) 525252525
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KL@}‘ A tank is fitted with two taps. The first tap can fill the tank completely in 45 &=

minutes and the second tap can empty the full tank in one hour. If both the

taps are opened alternately for one minute, then in how many hours the empty

tank will be filled completely?

Ueh Sehl W ST TeT o &, UEAT o1 Sehl SRl UTAAT 45 Te o w3t B 311 g8/ e
foreft ¥oh T 1 T2 & Tt AT 31 At ST TS AT A & ue-ue e 6
R et ST & A eft Zehi Bt quteraT Sy i Reerem @ e

(1) 3 h. 55
min.

(2)3 h. 40

(3) 4 h. 48




9

A man donates 30% of his wealth to charity. 30% and 25% of the remaining wealth of Rg=_"s
wife and son respectively. The rest he divides equally between his three daughter. One of

his daughter gets Rs 42 lakh as her share. What was the man's wealth (in Rs. Lakhs)?

Teh Sk 3TUHT WU hT 30 TTA9TT ST Ueh SHET TEAT hi ST ShIAT g1 I 19T hT SHATT: 30
3T 25 TTAITT AT STUHT Uet SR ¢ hl AT 3| ATehl &I T8 FUAT d 1 Sfedi o e a0
9 ¥ forafra ot 21 seht afeat # & T i 42 @ & et €1 39 oTredt @t et Hut

(T & W) T o2

1) 280
) 400
(3) 500
(4) 350




3x2+5x—-3

(3) 3/4
4)0




The sum of two numbers is 36 and their HCF and LCM are 3 and 105 respectively. TheWg:=:

sum of the reciprocals of two numbers:
Y EEETSAT T AT 36 TAT IR T.H. TAT . |, THUIT: 3 TAT 105 7, A I7ch SR el T

T BAT?

(1) 2/35
(2) 3/25

4) 2/25
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The marked price of an article is 50% above cost price. When marked price is increased
by 20% and selling price is increased by 20%. The profit become doubles. If original

marked price is Rs. 300, then original selling price is -

T T T 3ifohd Tod 38 Td Hed | 50 U9t sTehidreh g1 STa sifehd Hed ot 20 Tfdvrd
T e T § o ok 7o w1 20 TaaeTa g7 foa STt & at ST ST & STl § 9t
e taes Sifehd Hed & 300 2T, a1 Iredfereh forshd Jed gHm|

(1) Rs. 200
Rs. 250
(3) Rs. 240
(4) Rs. 275




) What is the simplified value of
T AR T T R?

1+cos2A
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Y In a circle of radius 21 ¢cm and arc subtends an angle of 727 at the centre. The length of ¥

arc is -

21 BT BT ST I W Uk =, o6 X 72° ST RI0T STAT ¢l AT Shi vt AT ohil

(3) 13.2 cm
(4) 198.8 cm




KL_. . )

1 The milk and water in a mixture are in the ratio 7:5. When 15 litres of water are added

it, the ratio of milk and water in the new mixture becomes 7 : 8. The total quantity of

water in the new mixture is

—_—

T T UTHT ST AT 7 : 5 71 AT 15 e Ut SR Forerman g aF o1quTa 7 : 8 86 SAmaw 81 a7y

fororor & Tt <t et W T

1) 35 litres
2) 40 litres

(3) 60 litres
(4) 96 litres
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Kﬁ_,, -" The compound interest on a certain sum of money at a certain rate per annum for two =2
years is Rs. 2,050, and the simple interest on the same amount of money at the same

rate for 3 years is Rs. 3000. Then the sum of money is :

feret ffara gmarfor v wer ffera s afa od & ot ot st wrehafg =T 2,050 €. % eiRSa T &
ST U EHT &Y UR 3 TS hT TTEMROT ST 3,000 21 & e S-wrior fohet 2.

Rs.
20,000 (2)
Rs. 18,000
(3) Rs.
21,000 (4)

— Py P




@/ If two medians BE and CF of a triangle ABC, intersect each other at G and if BG = CG; E

T —

ABGC 60°, BC 8cm , then area of the triangle ABC is:
A ABC % 3 wiféqentd BE 7T CF U&-g&t &t G foig W et § sk aR BG = CG,
ABGC=60°, BC 8 @Y., af ABC T &/A®eT 7T &l

) 96+/3 cm?
w 483 cm?
(3) 48 cm?
4)54/3 cm?




=)

4 A rectangular paper sheet of dimensions 22 cm x 12 cm is folded in the form of a cylmd
along its length. What will be the volume of this cylinder?

(Take T = g)
22cm x 12cm Y ATAATHR TS it IHhHT TS oh THRA: HISHT Teh 9 TATET 14T ST

T STTIAT FTA B2
(1) 460 cm®
Mz) 462 cm’
(3) 624 cm®
(4) 400 cm®




/- Speed of a boat is 5 km per hour in still water and the speed of the stream is 3 km per

©)

hour. If the boat takes 3 hours to go to a place and come back, the distance of the place is :
IITd ST | A1 <ht =met 5 Toh.wi/eer & e Ry <y uet 3 foh. . wier 81 afe e 3 der o foret

At TR SR STIE AT AT &, 71 T AT 2

(1) 3.75 km
(2) 4 km
4.8 km
(4) 4.25 km




Home WO

the total surface area of a metallic hemisphere is 1848 cm”. cm. The hemisphere is melted

to form a solid right circular cone. If the radius of the base of the cone is the same as the

radius of the hemisphere its height is

Teh ST ol el TETT AAHE 1848 BHY 51 378 el Tl Tk ¥ieh o &0 H Tureretrat 7am afg

vich ht oI, sreimiet Y FAsa o srer 2, @ ik sht =S |

(1) 42 cm
(2) 26 cm
(3) 28 cm
(d4 30 cm



5:“3*' A batsman scores 98 runs in the 17" match of his career. His average runs p& .‘.,:__

match increased by 2.5. What is his average before the 17" match?

Teh TEdTNT o 9 Hit@Teh 17 9 A9 W 98 W S| 37eh Wil #er N aa Hi o 2.5
1 g g8 173 <0 & Tgel ITRT Ao T 82

(1) 58 -]
) 60.5

) 63
)




C together receive and B receives 2/3 as much as A and C together receive.
Then the share of C is :

%. 3000 ST A, B 3R C W 30 TR fawiia frar mar fof A, T BT C & et
R T 1/3 T B Y A 3R C ¥ FeT 70 &7 2/3 TTH 34T 31 A C T e A
E 2
(1) Rs. 1200
(2) Rs. 1525

3) Rs. 1625
4) Rs. 2100

gl Rs. 6000 is divided between A, B and C so that A receives 1/3 as much as B a¥




KL "3*‘ An amount was lent for one year at the rate of 18% per annum compoundin :h
annually, Had the compounding been done half yearly, the interest would have
increased by 324. What was the amount (in Rs.) lent?

T ST T 1 9 & forg 18 wiftrorar wftend srsrates samer oY o & gum far wam)
sh SATT A AT B W AT 324 & ¢ ATAT 31 IUR S T8 =Ry (&. ) v

oft?

o
g

(1) 32000

2) 36000
3) 10000

(4) 72000




N
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)
9 The height of the right pyramid whose area of the base is 30 m“ and volume Y-
500 m? is
30 W2 TUR qUT 500 W =T O fufae 6y s e = e

9

2) 40 m
3) 60 m
420 m
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- 0 In a 100 mt race ,kamal defeats bimal by 3 sec ,if the speed of kamal is 18
km/hr ,then the speed of bimal ?
100 Hiet it <2 W wHeT ¥ fWeT &l 5 Ache § WEAT, TR HHA hHi TS 18
e g, A Rma R gt 2

\C

(1)15.4 -]

(2) 145
ya) 14.4

@) 14




Mission Selection - SSC 2024

The radius of based of solid cone is 9 cm and its height is 21 cm. It cut into 3 parts by two
cuts, which are parallel to its base. The cuts are at height of 7 cm and 14 cm from the base

respectively . What is the ratio of curved surface areas of top, middle and bottom parts

respectively?

T 3N Vi & e <t e 9 At e sweh Sed 21 At } 30 &Y Hera, WY TR & THTEAR
T 3 AT ST T T FTUR O SHAI: 7 At 7T 14 A, S8 W) ) w79 Sy, we

AT Frerer AT o ok TEiE SoheT sht AT 9T 32
1)1:4:8

2)1:3:5
31:3:9
41:6:12




Find the remainder (987!!I + 37) +~ 988

- 21 ITHS T[T e (987°%7 + 37) + 988

)38
3) 37

(4) NOT




4 Find the smallest among V5,V6,V7 and V/30
2) geRwErFEE?




An article is sold at 10% profit. If its CP and SP are increased by Rs. 15 and
Rs 5 respectively, the percentage of profit decreases by 5%. Find the cost

price.

TH TET T 10% T T ST ATAT 8. AfS 38k 7T Hed AR Frshar gear 7 st
15 3R 55X Y qfeg, T ATAT &, AT TATH BT AFAIA 5% THH B ATAT 3| TR Hed

L GRS

) Rs. 213
3) Rs. 512

(4) Rs. 312




2/3 of a commodity is sold at 30% profit, 7 is sold at 16% profit and the rest
at 12% profit. If a total profit of Rs 75 is earned, then find the value of the

commodity.
T SR & 2/3 AT T 30% FITH U AT ATAT &, S 1/4 HARTRT 16% T W @w

ATt 3 3R ARl 12% T OR. 918 75 A T her oI ATt fohaT S @, v g
T T AT Y ?

1) Rs. 300
) Rs. 250
3) Rs. 350

(4) Rs. 325




/4

N
=

)
9%’ The area of sector of a circle of radius 5 cm, formed by an arc of length 3.5 18

5 QY BT AT a9 & FsaEue FT gEwer 7T wY, S 3.5 Wt erard T |
g fRffe forar mar @?

(1) 8.5 cm? |

M) 8.75 cm?

(3) 7.75 cm?
(4) 7.50 cm?




/' Two cars are travelling towards each other with speeds of 45 km/hr and 63 &=

km/hr respectively. What is the distance (in kilometers) between the two cars

ten second before they collide?

S mifgat g g T quR FAI: 45 FoR o, i der aun 63 et s der P afa &
=T T B THO B 3T ARV Uger Ik el fhaet i (Faweft) St

1) 0.5
) 0.2
3) 0.3
4) 0.45




The radii of a sphere and cylinder are 6 cm each. If their volumes are equal,

then the curved surface area of the cylinder is :

Teh Mot 3R Teh S <t Bt 6 A, §1 af2 37eh e s S v ae an
T3k I8 ATHE feheT ghIT?

(1) 3277 cm?
(2) 96 T cm?
(3) 44 T cm?
(4) 54 T em?







